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"EXERCISES

According To NEP Guidellnes

A Multiple Choice Questions

l. g1 TR means computing on Internet.
(@) Cloud L \/‘J (b) Google Drive [::] (¢c) Dropbox. {\
2 allows users to store and share files up to 5GB in size.
(a) Dropbox D (b) Google Drive | (¢) Amazon Drive {?/:
zure was mtroduced by ...............ocooovn in2010
(a) Microsoft Z] (b) Google (c) Amazon (:
e is stored in multiple locations, so even if one server goes dOWn, the

datais safe.

(a) Information (b) Internet (c) Cloud

+++--... cloud is available to general public over Internet.

(@) Private [ | () Hybrid - (c) Public

T
@ Write T for true and F for false statements.
1. Cloud computing has the lowest risk of backup and recovery failures.
2. Hybrid cloud is a combination of only two clouds.

3. The biggest risk about cloud computing is data security and privacy.
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4. Cloud computing provides limited space to store information.

| Very Short Answer Questions
1. ‘How can you access your files and applications from anywhere in the world?

2. Name cloud computing based technologies for learning.

Short Answer Questions | e S S O n - 6

1. What is cloud computing?

mmoe0  hook work



ERYEIR

According To NEP Guidelines

@ Multiple Choice Questions

il Looping is also known as a/an ........ccceeeemmmeeeeese statement. | R

(a) conditional [_-___] (b) iterative ‘ G \(c) selection ‘\\}
2. In Python, 'in' and 'not in' are KNOWN @s ....cceeseeeeeeszreeettirrs operato.rs.

(a) logical l(b) relational D (c) ;nembersmp [Z]
3. An array should have .....ccccceeeevciueveeneens type of data values.

(a) same [:] (b) different @ (c) equal E
4. The range() function can take MaXimuUM ......ocoireeereeeeneessees arguments.

(a) 3 (o) 2 [ e 4 —
5. To stop the loop before its completion, we use the ... statement

(a) continue [: (b) pass {j (c) break \Z
. ) Fill in the blanks.

I, ..CQ.MQL{.‘E‘..O.‘!.\Q.Q ........ statements cause the interpreter to jump from one pa:
of the program to another part based on some condition.

2.  In.lf.glseselif.. statements, multiple conditions are tested.

3. The........... ‘{‘0\( ............... loop is preferred when the number of iteration is fixe
4. .. v O\’“ 8. allows the block of code to be executed till the condition is tru
% Identify the errors in the following codes and rewrite them.
1.  fruits = "apple" 2. foriinrange (10, 2@]
for xin (fruit): | print (i) Small Brackey:
print(a Lewove By 8 brac

% Very Short Answer Questions

1. Write the syntax of 'if' statement. '

2. What is an infinite loop? e S S O n 7
3. Define function.

’ Short Answer Questions

1. What is sequential control structure? b O O k W O r k

2. Define while loop.

3. What is an array?
' Long Answer Questions
il; What are control structures? Name different types of control structures in Pyt
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alyse data.
Dl B e create systems to collect, store and («Zl)l 1.;’ i z
(a) Data Scientists [::]
(¢) Data Architects s , [j
B.) Write T for True F fore false statements. - E
1. The importance of data science has jncreased rapidly. [—I

2. Data is not the building block of information. o o
In healthcare, data science is used to assist doctors in diagnosing diseases.

——

3. I
4. Discrete data does not have a specific value. E,
CW‘ Very Short Answer Questions
1. What is data? 2. Write some examples of data types.
D, Short Answer Questions ’ 8
1. What is data science? e S S O n

2. Differentiate between continuous data and discrete data.
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